Basic Integration:

-Integration by Parts: [ sinx dx - Substitution: [ 1an x dx ~ Substitution: f(cos*x + 3cos’x+7 cos x ~ 1)sin x dx
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Applications of Integrals:
y=2x?+10, y=4x+16, x= -2 and x=5 y=x?-2x and y=x about the line y=4 y=3/x and y=x/4 about the y-axis
y=¥x = x=y
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Sequences and Series: limit comparisan test comparison test
i i A B 3" 3 < < 1+sin(n) _ lisin(m)
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1 Telescopic series 1 =lim f’i‘Z =1 by>a, — > szl
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!Lrg s7 = 0 converges so.. Eo —~ also converges
Power Series:
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3) Ix+4|< & R=14 d)interval=[ ~sk, &)  >First 3 terms of Taylor Senes of ¢'sinx D€ =1+x+ & sinx=
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Polar Coordinates:

r = Scsc(0) r=6sin(8) + 4 cos(6)
r= ;,?(—9)- r?2 =6 r sin(0) + 4 r cos(6)
rsin(0) = 5 P+ yr=6x +4dy

—> complete the square <

\r- 5X¢-2)=0




